GIPSA Cost for Information Collection

Attachment 5

Form Number and Other Identification (A)	Total Annual Responses (B)	Average Time Response (C)	Total Hours Per Year (D)	GIPSA Hourly Cost (E)	Program Cost (D x E) (F)	Overhead Costs (Col. F times 0 .139) (G)
FGIS-4 Application and Agreement For Contract Service	72	0.333	23.98	\$32.97	\$790	\$110
FGIS-904 Laboratory Scale Test	2445	0.033	80.69	\$22.74	\$1,835	\$255
FGIS-907 Application for Inspection and Weighing Services	18697	0.017	317.85	\$22.74	\$7,228	\$1,005
FGIS-921-2 Inspection Report - Insects in Grain	2170	0.080	173.60	\$21.67	\$3,762	\$523
FGIS-922 Inspection and Weighing Report	672	0.167	112.22	\$21.67	\$2,432	\$338
FGIS-923 Moisture Meter Test	634	0.033	20.92	\$22.74	\$476	\$66
FGIS-924 Barley Pearler and Sieve Test	1177	0.033	38.84	\$22.74	\$883	\$123
FGIS-925 Rice Checktest Form	4	0.033	0.13	\$15.01	\$2	\$0
FGIS-927 Testweight Checktest	539	0.033	17.79	\$22.74	\$405	\$56
FGIS-928 Dockage Checktest	775	0.033	25.56	\$22.74	\$581	\$81

August 10, 2007 Attachment 5 Page 1 of 5

Form Number and Other Identification (A)	Total Annual Responses (B)	Average Time Response (C)	Total Hours Per Year (D)	GIPSA Hourly Cost (E)	Program Cost (D x E) (F)	Overhead Costs (Col. F times 0 .139) (G)	
FGIS-930 AMA Output Report	288	1.000	288.00	\$15.01	\$4,323	\$601	
FGIS-936 Sampler Condition Report	2667	0.083	221.37	\$22.74	\$5,034	\$700	
FGIS-938 Report of Grain Inspected and Weighed for Export	598	0.083	49.63	\$21.67	\$1,076	\$150	
FGIS-941 Request for Waiver of Inspection	2	0.017	0.03	\$32.97	\$1	\$0	
FGIS-942 Application for Designation	33	0.500	16.50	\$29.77	\$491	\$68	
FGIS-944 Application For License Under The United States Grain Standards Act (USGSA) and/or The Agriculture Marketing Act (and) of 1946	240	0.167	40.08	\$22.74	\$911	\$127	
FGIS-945 Application for Registration	100	0.017	1.70	\$32.97	\$56	\$8	
FGIS-950 Warehouseman's Sample-Lot Inspection Service Contract	2	0.250	0.50	\$22.74	\$11	\$2	
FGIS-960 Official Grain Weight Certificate	0						

August 10, 2007 Attachment 5 Page 2 of 5

Form Number and Other Identification (A)	Total Annual Responses (B)	Average Time Response (C)	Total Hours Per Year (D)	GIPSA Hourly Cost (E)	Program Cost (D x E) (F)	Overhead Costs (Col. F times 0 .139) (G)	
FGIS-965 Scale Test Report (Hopper)	294	0.083	24.40	\$32.97	\$805	\$112	
FGIS-965-1 Scale Test Report (Railroad Track)	14	0.083	1.16	\$32.97	\$38	\$5	
FGIS-965-2 Scale Test Report (Vehicle)	41	0.083	3.41	\$32.97	\$113	\$16	
FGIS-980 Authorization To Use Mechanical Sampler	50	0.087	4.35	\$22.74	\$99	\$14	
FGIS-983 Contract Service Agreement	19	0.250	4.75	\$15.01	\$71	\$10	
FGIS-992 Services Performed Report	8248	0.583	4808.58	\$15.01	\$72,177	\$10,033	
FGIS-998 Questionnaire for Proposed Diverter Type Mechanical Sampler Installation	50	0.250	12.50	\$22.74	\$284	\$40	
FGIS-1001 Application for Approval to Operate as a Weighing Facility	175	0.001	0.18	\$27.98	\$5	\$1	
FGIS-9601 Repair/Modification Notice	30	0.167	5.01	\$27.51	\$138	\$19	
None Application for Scale Testing	403	0.083	33.45	\$27.51	\$920	\$128	

August 10, 2007 Attachment 5 Page 3 of 5

Form Number and Other Identification (A)	Total Annual Responses (B)	Average Time Response (C)	Total Hours Per Year (D)	GIPSA Hourly Cost (E)	Program Cost (D x E) (F)	Overhead Costs (Col. F times 0 .139) (G)
None Approval to Operate Outside Assigned Area	25	0.500	12.50	\$15.01	\$188	\$26
None Fee Records	28	2.000	56.00	\$32.97	\$1,846	\$257
None Filing Complaints	18	80.000	1440.00	\$35.42	\$51,005	\$7,090
None License Sensory Examination	200	0.250	50.00	\$22.74	\$1,137	\$158
None Notification of 15,000 MT Exemption	36	0.167	6.01	\$22.74	\$137	\$19
None Notification of Change in Specified Service Point	30	0.083	2.49	\$32.97	\$82	\$11
None Payment of Bills	9096	0.083	754.97	\$15.01	\$11,332	\$1,575
None Reporting Violations	7	0.167	1.17	\$32.97	\$39	\$5
None Request for Amendment to Assigned Area	4	0.083	0.33	\$32.97	\$11	\$2
None Request for Designation Cancellation	0	0.083	0.00	\$32.97	\$0	\$0
None Request for Prototype Testing	13	0.500	6.50	\$32.97	\$214	\$30

August 10, 2007 Attachment 5 Page 4 of 5

Form Number	Total	Average	Total	<i>GIPSA</i>	Program	Overhead
and Other Identification	Annual	Time	Hours	Hourly	Cost	Costs
and Other Identification	Responses	Response	Per Year	Cost	$(D \times E)$	(Col. F times 0 .139)
(A)	<i>(B)</i>	<i>(C)</i>	(D)	<i>(E)</i>	<i>(F)</i>	(G)

 Total Program
 Total Overhead
 Total

 Cost
 Cost
 Cost

 (D x E)
 (Col. F times 0 .139)
 (F+G)

 (F)
 (G)
 (F+G)

 \$170,937
 \$23,760
 \$194,698

August 10, 2007 Attachment 5 Page 5 of 5